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OMUSATITOII S HYAIY B
280,000, 0002 280,000
=2 200,000
2 80,000
BHOHC A BT K01 ) &1 AR 100,000 0 100,000
401 A HI L2 T 100,000 0 100,000
01 Al &bl 99,280 0 99,280
OATHY L AIIXIFHI 99,280,000 99,280
03 Al & bl 720 0 720
OBt T AIZBTIXHI N AL 2 CTHHI
100,000,000 *0. 72/100 720
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SHT ZHMEAD
=L R EPEET]

ool Znsee (S92
_ _ _ Muo
SN -BH - S(B) - MRAY - BES Off &F oA il b o HRE2
SUEUMESHTAZL AL 3,000,000 0 3,000,000
= 2,500,000
2 500,000
401 N2 B2 2 CHY| 3,000,000 0 3,000,000
= 2,500,000
2 500,000
01 Al bl 2,989,200 0 2,989,200
OF SO TN T E Z 4 (A=00,950m )
2,989,200,000% 2,989,200
= 2,492,440
2 496,760
03 Al & = Ch bl 10,800 0 10,800
OB YESMBSATATHAL LU
3,000,000, 0002 +0.0036 10,800
= 7,560
2 3,240
SAH 5,693,870 3,771,191 1,922,679
= 2,000,000
B 2 3,693,870
K&obsE SADIBES 5,593,870 2,571,191 3,022,679
= 2,000,000
2 3,593,870
SAHHE 2 300,000 200,000 100,000
401 A& HIL 2 THY| 300,000 200,000 100,000
01 Al Hl 297,840 198,560 99,280
O SEZANYER (SR 1-45)2HE2 & (
L=300m, B=6m) 297,840,000%! 297,840
03 Al S ThHl 2,160 1,440 720
OAl &= h| 300,000,000 %0.72/ 100 2,160
SAHHALRN 24 150,000 200,000 A50,000
401 Al&HI L 2 THY| 150,000 200,000 A50,000
01 Al bl 148,920 198,560 49,640
OSZAES24(S. 2. AI- B4, 40
148,920, 00024 148,920
03 Al & = Chbl 1,080 1,440 A360
OSAHEANLRNRS A 20|
150,000, 00024 #0..72/ 100 1,080
BEHY ALY 300,000 0 300,000
401 Al &HIL S THY| 300,000 0 300,000
01 Al 297,840 0 297,840
OSATA 2BEHY| 297,840
0 AT AIHEE2 &S H|(L=1000n)
99,280, 0002 99,280

_15_




A ZHZAlD
I S ADNY

&2 XN=Ihss TADIgES (9 E2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
0 MEH SAIHEEZZ 2&FHI(L=3000m)
99,280,000& 99,280
0 Myl2FdH AKX 2SHFH|(L=800m)
99,280, 000& 99,280
03 A& = 01| 2,160 0 2,160
O=0l 300,000,000& *0.72/100 2,160
ZII0IEEZAIHE AL F Y| 150,000 100,000 50,000
401 A& Bl 2 CHYI 150,000 100,000 50,000
01 Al &l 150,000 100,000 50,000
OS X0 150,000, 000& 150,000
SANEHRFA 21,870 21,191 679
201 Ler2g | 18,270 14,100 4,170
01 At 2teltl 1,470 2,100 A630
OSH (AL LREE) 7,000&*321+70L 1,470
02 2323l 16,800 12,000 4,800
OHAM32U=3 16,800
0.EAAHEEZ0Z2S Mg
200,000& x12& 2,400
0.80t23& MIIZ 200,000& x12& 2,400
0.80t23% =& & 200,000& «12& 2,400
0.Z2343& MIIz 200,000& = 12& 2,400
0.=HE3&E HMIIZ 200,000& = 12& 2,400
0.=H&E3&d =k& 200,000& = 12& 2,400
0.2&3& &Iz 200,000 x12& 2,400
202 odl 3,600 3,600 0
01 2LHAbI 3,600 3,600 0
OEANLHERH NI 100,000& »3021«12& 3,600
AFICH TAHEEZ HESA 1,700,000 0 1,700,000
= 1,000,000
= 700,000
401 Al HIZ 20HYI 1,700,000 0 1,700,000
= 1,000,000
= 700,000
01 Al&Hl 1,693,880 0 1,693,880
OMEICH TAHEEZZ HEZBA
1,693,880,000& 1,693,880
= 993,880
= 700,000
03 AI& R 0HHI 6,120 0 6,120
Ol 1,700,000,000& *0.36/100 6,120
& 6,120
AF2o(08)3exY 2,000,000 0 2,000,000




SN
X XH .
S Tt

el

B M & Al 2t
SAIDHE
KEots8 TADIBES

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
& ,000,000
[ ,000,000
401 Al HIZ 2 0HYBI ,000,000 0 2,000,000
& ,000,000
= ,000,000
01 Al & Hl ,992,800 0 1,992,800
O33AXH 1,249m 1,992,800,000& ,992,800
& 992,800
= ,000,000
03 AI& 201l 7,200 0 7,200
O 0Hbl 2,000,000, 000& *0.36/100 7,200
& 7,200
TS 2 S0 L JNLE2 HdSIHSSAL 500,000 0 500,000
401 Al HIZL 20HYI 500,000 0 500,000
01 Al &l 496,850 0 496,850
OZMZE =2 S L JNUE2 dSHS
S At 496,850,000 496,850
03 AI& 2 0HHI 3,150 0 3,150
OA &R0l 500,000,000 *0.63/100 3,150
EXPOCHHI T AIEZE EHIAS 472,000 0 472,000
401 AIEBIZ 2OHYI 472,000 0 472,000
01 A& HI 468,600 0 468,600
O=RX & A20 14, 2XEH 14
468,600, 000& 468,600
03 A€ = 01| 3,400 0 3,400
O 0Hbl 472,000,000& *0.7202/100 3,400
SADIBtESE FA 100,000 100,000 0
FHeEXF2 AMEERNES 100,000 100,000 0
401 A& HIZ 20HYI 100,000 100,000 0
01 A&l 99,100 99,100 0
OF XN A (M, 2M, 848 X2, ANS)XHE S M4
L TZANLERINES 99, 100,000& 99, 100
03 AlE = 01| 900 900 0
Ol 100,000,000 *0.90/100 900
HEES(ZHEAlD) 410,450 3,458,675 A3,048,225
LHEHH X = 410,450 3,458,675 A3,048,225
SXI|ESHII=z dE 361,250 257,208 104,042
701 JIEISIHNMEZ 361,250 257,208 104,042
01 JIEtSIHEEZ 361,250 257,208 104,042
OsXJY sdIII2EEEH d&=3
361,250,000& 361,250
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A BRI A
M HRES(ZHZAIDL)

Eol: RN & CCRE!
_ _ _ Muo
SA-E . S(E) - MEAY - BES 01l &4 24 i SImE=ET
SEHATEMLEES 49,200 101,467 AB2,267
701 JIEtSIHNMEZ 49,200 101,467 ADB2,267
O1 JIEtal AN E= 49,200 101,467 AB2,267
Os3HXNSEIHEES 49,200,000& 49,200
ol g1l 3,770,000 0 3,770,000
ollgldl 3,770,000 0 3,770,000
ol gyl 3,770,000 0 3,770,000
801 ol 3,770,000 0 3,770,000
01 oligl gl 3,770,000 0 3,770,000
O oldlgl 3,770,000
0 SR RIAEIA SXO§242e
370,000,000 370,000
0 24108 RX0H2=& 2,000,000,000& 2,000,000
0 RAEHI LS 02 1,400,000, 000& 1,400,000
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